HEFRAIT7ILAEE G-10)

E’ A

¥ ol *F m X

727 7 )b MR 2 =30 - BRERIRZt=100
A=14.16m

$=1:100

28-3
eqgm @ 8im [T
< TR 7V hIBt=30 L=3. 93m
= o
E S
o <
= 4 _
& 8
E 1
® 5 = 5" g
: W B A : 2
2 i " 9" &
= 8 & A% i EmEN N
g Moo F oS »
— % é&' i ° o
= & 5% & n
?‘@ FH=97. 9 o [|97 351 “,_% ﬁ 1
k2 FH=97.95 < & | \
97,95 H ) - ®
- D15 ] < 2 i g{
= [ e | #
= ER . CeSilp -
= S . &
% L Cay s
& § D EATRT 70 b 61000 | u
S| g [] RUTR 770 MEEIRHRHE R0 * ist=1005
- = oy y—p A28 0 . X |8 5
o ° g EEELS D 1010 5 | <
B T &= e A=0.31m (L=7. T0mx Avi=0, 0dm) | HERRjEIAEN=158 |7 (2 4
s I o = #
b £ o & %
= x o o
B 8 ST HNS @@% o 2 )
© = THELL ] o i n up
5 1 N b
g = D14 Q 5?) i = jud
K —_— 2 i ] ot
- . i -
i B LT H E
EE ® ::f . 7. 310 “2 % Sg
8 TS = <
FH=0. 96 & 97.94 ) xl .
g ﬁ “':“‘Qs/’ g 9811 w
8 Il E;( N S
i & %, 7 ]
S ., ‘ g 2
N o 5 . a - |
o 55 s 9z
n| P G, . A= £ (NO. 1)
B 4‘%( B0, X
= > i o
= & . g ) E+ £ LMETKF TR EMEREE
S - . % &
2 4 Y M s aE /= = = =
: - L 10 Tl . HEf |EREZEFMUEFIFHTRIZFAHMTIEH
HET AT 7 )L b =
¥ , Wi;mﬂmmﬁt 30 .
~| ZRAZ77IL+E =
5 I B =100 . ERERB 202318108
A=24.53m © - — °
[ % . o ®R =B HE&ES /
= = TRI7 b EIR=30 (=3.03 ot
£ of o H
[ e 1C O witE F—TREBHRRM snns
g
o o -
ExEL BARHEEhBETIE




